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In these puzzles, fill the grid with 
digits from 0 to 6. Each row and 
column (and shape, in the case of 
the bottom puzzles) of each grid 
should contain each digit 0 to 6. 
Split cells must contain 2 digits 
instead of 1.

Puzzle created by David Millar. 
More puzzles can be found on 
http://www.thegriddle.net.

You should get puzzle updates 
by following me on Twitter at 
http://twitter.com/thegriddle, by 
subscribing to e-mail updates, or 
by grabbing our RSS feed.

Fixed 7/5/2010.
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The shaded section 
in this puzzle is a 
disjoint set that 
must also contain 
the digits 0 to 6.

3

2


